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<29 >
508 WA - Ae AR

ZAM 08 108 (99 : kg, %, 711, &F)
A ) = o v & 4 = = 7
<
Al B AEA A | 400 | 211 | EAAWE 1 40009/33m S8 10ke/3 30t
A
i 8 4 A 1000 53 | 900,0009 +9,000kg (20kgx4504 A1) = 100.09)
v r & A H 559 29
A - % Al O 110091+ kg = 5509
a | - g o x 09) 76809 (602 Blo)E 127122)0.000kg = 0.9%
e | &€ % 389 21 | 35000091+9,000kg (20kgx4504 #) = 38.99)
o g A H] 284 15 | 14N, 9A8 &
o & 614 32
=l o W 114 06 | 2279+20kg = 1149
zq A 2 R R | 20 | 15 | 502(4E714 14500x4%)-20kg = 2909
4 | A = 7 A | 150 | 382 | 145009+ Wkg = 7509
= |m % = 125 07 | 25091+ 20kg = 1259(AMNE—RL)
LR I < I | 3638 19 | Azgey, Ay, I8 2
! o & 50.7 26
o | @ W A A | 850 | 434 | 165009+ ke = 82509
Y 600 32 | 60,000 (1EE)+(0kgx504 2 = 60.09)
2 | " 248 13 | A59TVHER0®9 kg = 2489
A < ) 1854 98 | AEey], A7y, IHE 5
4| o & | 8M8 | 423
%o b A | 1900 | 1000 | 19009)/ke
o W9y FEF F7 1 (07) 9ke/33m = (08)10
o AHH ¥Eu
s8] 1 (07) 9329/kg = (08) 1000
- 2 A A ] C07) 4099 /kg = (08) 559
- % % " (0D 3679/kg = (08) 389



<9 2>
Tr&u-& HAZEE - AL /AR
ZAHI 108 108 (29 kg, %, T, AF)
Foow Fo | g ® 2z 2 7
7t A A 441.2 932
S 1000 53 | 900,000% +9,000kg (20kgx4504 4) = 100.0¢)
Tla ow oy 450 24 | %009+ 2kg = 4509
Tz g oA 0w 5.9 29
2} - 2 A O 1,1009+20kg = 55,09
I - " o] = 0.9) 76809 (609X EIO1Z 1271)+9,000kg = 099
4 | ® % il 339 21 | 350,00091+9,000kg (20kgx450% A) = 3899
S 36 02 | 725(zlEel 145009x0.006%)+ Wkg =369
= ol &R W 114 06 | 2279+kg = 1149
I 29.0 15 | 5309(AHA 14500%4%)+ 20kg = 2909
1 4 2 7 2 7250 382 | 145009+ 20kg = 72609
%— o) $ = 125 07 | 2509+ kg = 1259(AMH—H E)
%= ZF A H] 368 19 | Ax#em, v, dAs F
il o] & 50.7 2.6
o | @ W 7 A 8250 434 | 165009+ kg = 82509
L % 1] 60.0 32 | 6000091 EES)+(0kgx5044) = 60.09
7+ = 24.8 13 | ABUT7H60+20kg = 24.8¢
I I 1] 1854 98 | AEBYW, 7w, YA 5
o] & 804.8 42.3
T A4 A 19000 | 1000 | 190090ke
o A WE Y
- A ¢ (07) 93.2¢9/kg = (08) 100.0
- 3 & A 8 C07) 4099 /kg = (08) 559
- % % ¥ (07) 36.79/%kg = (08) 389
- AdH] 27} (08) 45.09/kg
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e HAREE - FERE shYEEY)
ZAY 08 104 (Y - kg, %, 7], )
T 5 = 9 H & 2= = )
R 5827 388
A _ 900,000%] +9,000kg (20kgx450 4 4F) =
F g & A A 100.0 6.7
100.0)
, A R 450 30 | 9009+20kg = 4509
A
r F A A 55.9 3.7
4 | - % A G0 1,1009+20kg = 5509
- g o = 09) 768096109 xEo]E 127)+9,000kg = 0.99)
T le & 389 26 | 350,00091+9,000kg (20kgx4504 ) = 38.9¢)
8
e
g | FWEF e 175 12 | 35092 175009x2.0%)+20kg=17.59
1=
4 | BN F o= 35.0 23 | 7009 175008x4%)+ 20kg = 504
H
e}
Tlwom A 4] 8no 583 | 175009+ 20kg = 875,09
[¢]
d 1l A o | 4167 278 | AN, Q74w Pz 5
1}
2 | o & | 2083 139
=)
g [ ® W 7 A | 1500 1000 | 30009+2kg = 1,509
o AQH WE o
- 58 23] ¢ (07) 93.39/kg = (08) 1000
- X A8 C07) 4099/kg = (08) 559
- % % w07 333%/ke = (08) 389
- Adn] 27} (08) 45.09/kg



FENG YAEAA > A% A1)

(&9 kg, %, U, 4F)

o™
o i w4 H & 2k = = 7]
3
A | B39 A 350.0 184 | ZAAWMA : 3500933, S8k : 10kg/33m’
A
a F 8 4 A A 933 50 | 840,0009 +9,000kg (20kgx4504 4) = 9339
& A A 509 7
T -2 3 A4 @o 100091+ 20kg = 5009
f - g o X 0.9) 76809 (60 Blo]3E 127142):9,000kg = 099
= | & % H] 389 20 | 350,0009+9,000kg (20kgx450% #F) = 3894
; Ed A o 195 10 | 1A, As F
oo & 120 06
=8 A H] 114 06 | 2279+2kg = 1149
zq A A FF o8 240 13 AY71E 12,000%4%)+ kg = 2409
4 |3 & 7 4 600.0 316 | 120009+20kg = 600.0¢
S % i) 125 07 | 25091+20kg = 1259(A A7 %)
= | 7 A o] 305 16 | Aoy, o7y, dxe =
il o] & 820 43
g | B W 7 A 7250 382 | 145009+ 0kg = 72509
< % H] 60.0 32 | 600001 EEE)+ (20kgx504AF) = 60.09)
N = 218 11 | 4359(7F7H4 145009) 3%)+20kg = 21.89)
oozt A o] 1629 86 | Axpgw, 7w, Axw =
A | ol & 930.3 439
@ ow A | 19000 | 1000 | 19009/kg
o XAAHNE st T9lG T L
- ZAAYIEA ¢ (07) 4,0009/3.3m = (08) 3500
- 8% (07 8kg/3.3m = (08) 10
o AHH WME WY
- 8] ¢ (07) 80.09/kg = (08) 93.3
- ¥ A& A 8 2 C07) 4099 /kg = (08) 50.9
- & % ¥ (07 33.3%/%kg = (08) 389
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1708, 108 () © kg, %, 7V, HF)
= a5 9 u & = = 7
T v A A 3780 20.0
F 3 4 A v 93.3 49 | 840,000¢ +9,000kg (20kgx4504 #) = 93.39)
A A 484 2.5
- F A (475) 950+ Nkg = 4759
- H o X 09 76804 (60¢ o] 127~2)+9,000kg = 0.9¢
- % H] 389 2.0 | 350,00091+9,000kg (kgx4504 ) = 38.9¢
W & F = 60 03 | 12097 FH 1200090x1%)+20kg = 60.0¢
3} 2} H| 114 06 | 227¢1+20kg = 1149
A 4 4 £ 5 B 24.0 13 | 48091(F 2714 12,000x4%)+20kg = 2409
4 | 4 % 7 A 600.0 316 | 1200094+20kg = 600.0¢
z | Wl 3 k=1 125 0.7 | 25081+20kg = 1259(FMA—% %)
= | 7 A H] 305 16 | Az, 94, dxs
gl o & 82.0 43
| ® oM s A 7250 382 | 145009+ 20kg = 725.0¢
& s H] 60.0 32 | 60,0009 (1EEH)+(20kgx504 2F) = 60.0¢
2 | 7 =] 218 11 | 435979714 145009] 3%)+20kg = 21.8¢
| T A il 162.9 86 | XM, 1A, AXE F
O s 9303 489
# W 7 A | 19000 1000 | 1,900¢/kg
o AHH WE WY
- g A 07) 80.09/kg = (08) 93.3
- X A A 8] 1 07) 409€/kg = (08) 484
- % ¥ 007 333%¢/kg = (08) 389



o
ol
=
ofo
ok
)
=3

(B — A2 7FEAA)

2] 108, 104 (&9 - Lkg, %, V), FE)
S a9 v & * & 2 7
=7t 4 # 7 A 400.0 211 | EAAHIA : 40009/33m, T8 1 10kg/33m
F 3 A A v 93.3 49 | 8400009 +9,000kg (20kgx4504 #F) = 93.3¢
r & A 509 2.7
- % A (50.0) 1,0009+20kg = 50.0¢
& - g o = 09 76309 (609 Elo]3E 1271£)+9,000kg = 099
x| ¥ % H] 389 20 | 350,000¢+9,000kg (20kgx450% &) = 38.9¢)
g | & A H] 22.4 12 | A7, I8 5
o] s 71 0.3
= | 3 2 H] 114 0.6 227°J+20kg = 1149
zq A 260 14 | 52089(A=7H4 13,000x4%)+20kg = 2609
F | 4 # 7 7 650.0 342 | 13,0009+ 20kg = 650.0¢
= | & =1 125 0.7 | 250¢9+Wkg = 1259 (AW E-HE)
= | 2 A H] 330 L7 | AE#HH], A4, dXE F
wf | o] & 745 39
o | @ W 7 A 770.0 405 | 154009+ 20kg = 7700
< 3 H] 60.0 32 | 60,0009 (1EE=])+ (20kgx5044) = 60.04
A | # ] 231 12 | 4629(F307H4 154009 3%)+20kg = 23.1¢
l 4y A H] 1730 91 | Az, 94w, Jdxg T
]l s 8739 46,0
# oW 7 A | 19000 1000 | 1900¢/kg
AH7H ¥E WYy
8 A 0 (07) 80.0¢9/kg = (08) 93.3
3 A A C07) 40.9€/kg = (08) 50.9
- % ¥ 007) 333¢/kg = (08) 389



<BY 7>
st § HAEEA - AL 7HEAR)
241 208, 108 () © kg, %, 7V, HF)
= a9 vl & A = & 7
T v A A 4165 219
Al F g A A 933 49 | 840,000¢ +9,000kg (20kgx4504 #F) = 9339
a | 2% A 50.9 27
- X % A (50.0) 1,0009+ 1742H20kg) = 5009
* H o X 09 76804 (609 o] 12712)+9,000kg = 0.9¢
e & 3 Ll 389 20 | 350,00091+9,000kg (20kg <4504 #) = 3894
Adlzg22z 130 0.7 | 26093 130009x2%)+20kg = 13.09
S 2 H| 114 06 | 279+Nkg = 1149
j ¥ F 4 £ 5 260 14 | 5209714 13,000x4%)+20kg = 26.0
4 |4 F 7 A 650.0 34.2 | 130009+ 20kg = 650.0¢
z | Wl 3 k=1 125 0.7 | 2509+0kg = 1259 (A H—-HE)
= |z A il 330 L7 | AE#HYH, A4, dxE F
| o] s 745 3.9
o | @ W 7 A 770.0 405 | 1540091+ 20kg = 7700
- % H] 60.0 32 | 60,0009 (1EEH)+ (20kgx5044) = 60.04
S =z 231 12 | 4629(7F47H4 154009] 3%)+20kg = 23.1¢)
L 1 A H] 1730 91 | AxEm), A4, AXE T
| ol s 8739 46.0
B v 7 A 19000 | 1000 | 19009 /kg
o AHH WE WY
- gk A 0 07) 80.0¥9/kg = (08) 93.3
- 3 2 A ¥ C07) 4099 /kg = (08) 50.9
- % & 1] (07) 333¢/kg = (08) 389



